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Testing HashTable Classes

Test HastTable node class
¢ third, 3>

< second, 2.3

< First, 1

Test Hashlable, Hash classes
100

98 - ¢ arrdvark, 12

97 - € platypus, 2 >

52 - € slath, 33

2 - ¢ kangaroo, 4 3

setting ¢ kangaroo, 4 3 to (kangaroo. -4 >
79 - ¢ pig. 5 5

3 - ¢ horse, 6>

12 - Caas. "1y

Hashlable does not
Hashlable contains
Hashlable contains
HashTable contains
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0-¢.8>
1- ¢ that,, 12
2 - { addresses:

loc = 13 - < traits, 13 >

loc = 15 - € <<, 153

loc = 15 - € 2,715 >

loc = 16 - € _verboses. 16 >
loc =16 - € 1, 16 2

loc =17 - € @, 17 >

loc = 12 - < Hashiteratordkey,value.Hash>Cxthis, pNode, loc>s, 17 >
loc = 17 - < functor, 17>

loc = 17 - ¢ project.. 17 >

loc = 19 - < pCurrentRodes, 19
loc = 28 - < operator—>Ci. 28 >
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96 >
§ itms, 97>

Displaying copy of Hashlable

Note that there is no guarantee that node chains

stay in original order, but node set is the same.
kangaroo, -4 >

horse, 63

aas, 13

platypus. 2 >

Testing HashTable assignment

2 - ¢ kangaroo, -4 >
3 - < horse, 6>

12 - Caas, 1)

52 - ¢ slath, 3 >

2% - ¢ pig. 6>
90 - ¢ arvdvark, 1

1

95 ¢ p]atypus. 23

Note that there is no guarantee that node chains

stay in original order, but node set is the same.
kangaroo, -4 >

horse, 63

aas, 13

platypus. 2 >

Testing HashDouble Functor

loc = @ - { -2.6, second >
loc = 3 - { 7.503806, tenth >
loc = 6 - { 81333, fourth >
loc = 7 - { 4,533, sixth >
loc = 33 - € 0.033, ninth >
loc = 38 - € 35.63, third >
loc = 46 - € -3456. seventh >
loc = 66 - € 63.42, eight >

loc = 99 - € -7.50+806, fifth >

Testing sun function
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Press any key to continue
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